EE:211, Computational Techniques in Electrical Engineering

Mid#2 Exam (2" Semester, Spring 2012,1432/33H) Name:
Wednesday, April 25, 2012
Total Marks= 40 Student-1D:

Total Time= 180 Minutes

Problem#1[8] Find the function P(x) = a + bcos(mx) + csin{mx), which interpoiates the data:
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Problem#2[8) The following data are taken from a polynomial p(x) of degree < 5. What is the polynomial and what is
the degree. Simplify your result as much as possibie.
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Problem#3[8] The Jength of the curve represenied by a function y = f(x) on an intervai [a , b] is given by the
following integral:

b
1) = f JITFOP dx

Using the Trapezoidal rule and n = 4, compute the length of the curve when

i

f(x) = pcos (x)J D<x <

S

Problem#4(8] Let 1,(f) = =*[f(0) + 3(2h)]

What is the degree of the precision of the approximation:  I,(f) =~ f;hf(x)dx

Problem#5{8] Solve the linear system using partial pivoting;

1 2 3 1
2 3 5 0 L
2 3D
A= _ : b:o
3 4 350 1
0
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